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The following equations will be given on the second exam in this form. All of your solutions for the
problems should start from these equations.

VaVZAr/At
a=dv/dt
V=V0+at
v=2nr/T

FNET =ma

F=Gmm,/ 12
fie=wFy
W=AK

W= 2 F(x)dx
W = rifrf Fcos¢dr = rifrf Fdr
F(x)=-dU(x) / dx
U=-GMm/r
p=myv

J= FanAt
w=d6/dt

w=ow, +ot

A8 =1/2(w, + o)t

PIAV] = PyA,Y,

AL=a L AT

EQUATIONS

v=dr/dt
v2 =V02 + 2aAx
Ax =1/2(v, + V)t

X = -b + sq.rt.(b? - 4ac) / 2a
W= Fg =mg

F, =[dF

K = 1/2 mv?
F. =-kx
X

P =W/ At

U(y) = mgy

W =AE=AE__ +AE, +AE,

room= /MZmr,
J=Ap

s=10

a,, =Aw /At
AO = t+1/2 at?
V=1
K=121w?

T =Fr, =Frsing
T=rxF

L=1Iw

P=F/A

T =T +273.15

T =9/5T +32
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a, = Av /At
Ax = Vot + 1/2at?

a=v2/R

D=1 CpAV2
f Fx

smax M
W = Fdcos¢ = F'd
W, = 1/2kxi2 - 1/2kxf2
P=dW/dt

U(x) = 12kx?
AE,=f.d

Xeom = [x dm

J= JTF)dt

w,, = A8 /At

a

a=dw/dt

w? = oo02 + 20A0

a, = ro
[=[r’dm
T~ IO
EFrxp
Q=Mgr/lw
P=P_+pgh

pl—i— pgy, + 1/2pV12 =
p2+ PgY, + 1/2pV22
Q =mcAT
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o F c
AV =BV AT W=V Pdv Q=mL
AE, =Q-W Peond = Qt=KA(Ty-T)/L  prad = ceAT*
N=nNA MsamZnM M=mNA
PV =nRT PV = NKT K,y=32kT
Vims = Sq-1t.(3RT/M) A=V /(sqrt.2)nd*N) E. (=3/2nRT
Q = nCAT AS = [ldQ /T e =[W|/|Qy
T=1f K=Q /W] ec=1-T /Ty
w = 25cf x(t) = x4 cos (wt + ¢) T = 2w sq.rt. (m / k)
T =2msq.root (L/g) v=~fA
CONSTANTS
g=9.8 m/s? G=667x 1071 Nm¥kg?  Pyaer = 1000 kg/m?
latm=1.013x 10°Pa R =8.31 J/mol'K k=1.38x 1023 JJK
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